
2025九州大学（前期）英語 解答例 

 

 

［１］ 

問１． 

先輩ドライバーガイドが作った全ての観光地を載せたメモを暗記して，ガイドの練習をし

た。 

 

問２． 

He decided on a weekly or monthly theme to improve his weak points, listened to 

English radio programs and learning CDs, read English newspapers, and made his own 

word list to memorize. (32 words) 

 

問３． 

一方通行ではなく互いに言葉や考えをやりとりし，説明し過ぎず雰囲気を感じ取りながら

顧客の希望や要求に合わせる案内。（56字） 

 

問４． 

Ｄ. ⇒ Ｂ. ⇒ Ｃ. ⇒ Ａ. 

 

問５． 

Ｄ.，Ｅ. 
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［２］ 

問１． 

非常に怖かったが，またとない機会を与えられたと感じた。 

 

問２． 

改変された無害のウイルスを使って，Otof 遺伝子の正常に機能する複製を損傷した音を感

知する有毛細胞に届ける治療法。 

 

問３． 

Ｂ. 

 

問４． 

Ｄ.，Ｆ. 

 

問５． 

（ア）Ｅ. 

（イ）Ｇ. 

（ウ）Ａ. 

（エ）Ｃ. 
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［３］ 

問１． 

Ｃ. 

 

問２． 

重要なことだが，ボーイング社で AI を用いた試みの全てがビジネスの問題を解決する方法

になるわけではない。 

 

問３． 

問題の特定と解決策の提案や自己学習アルゴリズムによる問題の未然防止など，生産中止

につながる事案の 70％に対する解決策を推奨する AI に基づいたシステムを構築した。 

 

問４． 

生産遅延など，個別の難題への対処法を決定すること。 

 

問５． 

Ｃ. 
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［４］ 

解答例 1 

I would choose Plan A for the following two reasons: The first is a financial one.  Even 

though I want to enjoy my spring break, I don’t have that much money.  Since the ferry 

ride costs only 15,000 yen each way, I can spend a little bit more enjoying some of the 

great local food I have heard so much about on that island.  The other reason is that I 

like traveling by sea, sitting on deck and enjoying the ocean air and view.  Saving a few 

hours by paying more for a plane ride is not for me. (99 words) 

 

解答例 2 

I would choose Plan B for two main reasons: One is that I tend to get seasick, and 

spending long hours each way on the ferry would surely make me sick and unable to 

enjoy the rest of my vacation.  The second reason is that I have heard that the island is 

a great place to ride a bicycle, and I want to use the extra free time I will gain by flying 

to the island to explore it by bike and try the different local dishes along the coast.  

Although a one-way flight costs 30,000 yen, I will gain about an extra five hours! (105 

words) 
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［５］ 

I think one possible effect of the decline of traditional shopping streets in Japan is a loss 

of a community feeling.  People have always been able to meet and talk with others in 

those old shopping streets and could get information as well as share information with 

other people.  Another effect is the loss of local craftsmanship and traditional 

businesses.  Many craftsmen were there for decades and handed their skills down to 

their children.  This is now being lost. (79 words) 


